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" Section 1: MULTIPLE CHOICE. (24 points)
Choose the one alternative that best completes the statement or answers the question.

(1) Ina given year, the government of Cooland announces the following items with

figures (in million):

GDP = $20

Net factor payments from abroad = $3

Taxes = $3,

Transfers received from the government = $1.5,
Interest payments on the government's debt = $0.5,
Consumption = $13

Government purchasesy =$3.

Cooland’s government saving is , and national saving is

A.

B.
C.
D.

$2 million; $7 million
$4 million; $8 million
-$2 million; $6 million
-$2 million; $7 million

(2) You have just purchased a home that cost $200,000. The nominal mortgage

interest rate is 7% per annum, mortgage interest payments are tax deductible, and

you are in a 20% tax bracket. The expected inflation rate is 5%. Maintenance and

other expenses are 6% of the initial value of the house. What is the real user cost

of your house?

A.
B.
C.
D.

$16,000
$13,200
$24,000
$26,000

(3) Janet is a forward-looking consumer with no borrowing constraints. Janet

originally planned to have no assets for the future; i.e., she planned to spend

all her original assets and all her income when she was young, and planned

to consume an amount equal to her future income when she was old.

Recently, the real interest rate rises from its original level. What will happen

to Janet's current consumption and saving?
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A. Both Janet’s current consumption and saving would increase.

B. Both Janet’s current consumption and saving would decrease.

C. Janet’s current consumption would decrease and saving would increase.

D. Janet’s current consumption would increase and saving would decrease

(4) Suppose the U.S. government changes the tax code so that business firms
face higher tax rates on their revenue, while the tax code changes are offset
by other lump-sum tax changes so there is no overall change in tax revenue.
As aresult, the real interestrate__, investment ,and saving_
in the goods market equilibrium. ‘

A. increases; declines; increases

B. decreases; declines; declines

C. decreases; increases; increases

D. is unaffected; does not change; does not change.

(5) The massive outbreak of coronavirus (COVID-19) causes many people to
retire or quit their jobs. In the meantime, there is no shortage of vaccines
and medicines, as a result, the level of labor productivity sustains as usual.
What will happen to the employment and the real wage in labor market
equilibrium?

A. Both employment and the real wage would be higher.
B. Both employment and the real wage would be lower.
C. Employment would be lower, while the real wage would be unaffected.

D. Employment would be lower, and the real wage would be higher.

(6) - The central bank of Taiwan announced its forecast for Taiwan's 2023 gross
domestic product (GDP) growth after a quarterly policymaking meeting
held on December 15, 2022. The GDP growth forecast for 2023 has been
cut from 2.90 percent to 2.53 percent, referring that the worldwide inflation
is expected to continue to pose uncertainty in the global economy in 2023.
If consumers believe that a recession will occur in 2023 (in a closed

economy), then the real interest rate and investment in the

goods market equilibrium.
A. falls; declines

B. falls; increases
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C. rises; declines

D. rises; increases

Assume the markets for labor, goods, and assets are in equilibrium for Smileland
(closed economy). Now suppose that Smileland is likely to have a severe recession,
resulting in higher riskiness of stocks and bonds. In addition, consumers and firms
could reduce their inflation expectation since Smileland’s economy may soon
experience a major slowdown. If the central bank of Smileland does not change
the nominal money supply, what will happen to the real money demand and the
value of current price level in asset market equilibrium?

A. Both the real money demand and the price level would increase.

B. Both the real money demand and the price level would decrease.

C. The real money demand would increase, and the price level would decrease.

D. The real money demand would decrease, and the price level would increase.

Assume the markets for labor, goods, and assets are in equilibrium for
Smileland (closed economy). Now suppose that the real output of Smileland is
expected to grow by 5% over the next year, and the real interest rate is expected
to be constant over the next year. Moreover, a macroeconomist found that the
real-world income elasticity of money demand for Smileland is estimated to be
0.6. If Smileland’s central bank announces that inflation rate will stay at 2%
over the next year, and everyone in Smileland believes this announcement,
what growth rate of the nominal money supply should the central bank choose?
A 5%

B. 4%

C. 3%

D. 0%



B 3k AR 112 S5 RALIL AL RA
EVIE Y i
&

XA E (4K55) ¢ BB eE$4702)
#£8RH4H A (S5 F] #%
Section 2: Numerical and analytical Problems (26 points)

(1) (14 points) Productivity, output, and employment
Suppose an economy has an aggregate production function, given by:

Y = AK*N*~%, where 4 is the total factor productivity, « is a fixed parameter,
K represents capital, and N represents labor. The price level is 1.

(@ (4 points) Assuming that the labor market is competitive, and firms
maximize their profits, use the production function to derive an algebraic
expression for the demand curve for labor in the form of NP=N(w), where
w is the real wage.

() (6 points) Now suppose that the labor supply curve is upward sloping and
has the following form:

N3= Bw?,
where B is a fixed parameter, and w is the real wage.

Assuming that a=0.5 and B=0.25, derive an algebraic expression for the
real wage and employment in the labor market equilibrium.

(©) (4 points) Many economists believe that technology progress is more
effective than capital accumulation in raising the living standard in terms
of output per capita. Do you agree or disagree with this argument? Briefly

explain your reasoning.
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(2) (12 points) Long-run economic growth
Suppose Smileland (closed economy) has a per-worker production function:
y = Ak®hF,

where 4, o, and S are fixed parameters, y is per-worker output, & is capital-
labor ratio, and 4 is human capital per worker representing a measure of skills
and training of an average worker.

Assuming that both population and the workforce of Smileland grow at
a constant rate, n. Smileland’s saving rate is s, and all saving is used to build
physical capital, which depreciates at rate d. To reflect the idea that the more

capital used by workers, the more skills they acquire, we can assume that

h=06k where O1s a fixed parameter.

(a) (6 points) If e+ < 1, find the algebraic expression for capital-labor ratio,
k, in the steady state. What is the effect of an increase in s on the long-run
growth rates of total physical capital, total human capital, and total output

in Smileland?

(b) (6 points) If e+ = 1, repeat Part (a) and compare and briefly expiain your

results.
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Part 2
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1. Which of the following would not act as an automatic stabilizer?
A) Unemployment insurance

B) Government purchases

C) Personal income taxes

D) Corporate income taxes

2. For a given real exchange rate, a nominal appreciation of the domestic currency
will result from

A) a decline in the terms of trade.

B) an increase in the price of the foreign good..

C) an increase in the price of the domestic good.

D) an increase in the domestic rate of inflation.

3. The Lucas critique is an objection to the assumption that

A) inflation is always and everywhere a monetary phenomenon.

B) there is a negative relationship between inflation and unemployment.

C) historical relationships between macroeconomic variables will continue to hold
after new policies are in place.

D) people form expectations rationally.

4. Which of the following macroeconomic variables is acyclical?
A) Real interest rates

B) Unemployment

C) Money supply

D) Consumption

5. Consider a country such as USA. According to the classical model, an increase in
the nominal money supply would cause the nominal exchange rate to____and the real
exchange rate to___.

A) depreciate; appreciate
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B) appreciate; depreciate
C) depreciate; remain unchanged
D) appreciate; remain unchanged

6. Based on the expectations-augmented Phillips curve, if the natural rate of
unemployment is 0.06, and if the actual inflation rate exceeds the expected inflation
rate, then the unemployment rate is

A) less than 0.06.

B) 0.06.

C) more than 0.06.

D) 0.06 plus 0.5 times the difference between actual and expected inflation.

7. When actual inflation is less than expected inflation, ,

A) the natural rate of unemployment falls, according to Phillips-curve analysis.
B) cyclical unemployment falls, according to Phillips-curve analysis.

C) there are transfers from borrowers to lenders.

D) there are transfers from lenders to borrowers.

8. A one-year bond has an interest rate of 5% today. Investors expect that in one year,
a one- year bond will have an interest rate equal to 7%. According to the expectations
theory of the term structure of interest rates, in equilibrium, a two-year bond today

will have an interest rate equal to %.

9. Consider the IS-LM model:
C=100+0.5(Y -T),

I[=100 - 10r,
NX =-50,

G =100,
T=100,

M = 5000,
P=100, and

L(Y,r)=0.5Y - 10r,
where C, I, G, T, NX, M, P, r and L respectively denotes consumption, investment,
government purchases, tax, net exports, money supply, price level, real interest rate,
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and liquidity demand function. The equilibrium value of Y will be :
10. Suppose that real GDP is 10,000 and remains constant, nominal GDP is initially

50,000, inflation is 2%, and the debt-GDP ratio is 0.5. The largest nominal deficit that
the government can run without raising the debt-GDP ratio will be

—. EERE #5205
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